Name: Date:

Teacher: Class:

Multiplication 403

Did you hear about what happened at the laundromat last
night? Three clothespins held up two shirts!

Multiply these numbers.

L §x7= 18. gx7 = 3. 8gx7=
2 7T xT7= 19 10x 7 = % 11x7=
3. I2x7= 20. 1 x7 = 37. 4 x 7 =
4 Qx7 = 2l. 12 x7 = 3B I x7 =
> T xT7= 22. 11 x7= ¥ 6x7=
6. Qx7 = 28. 4x7 = 40. 1 x7 =
T 10x7 = 24 B x7= 4. 3 x7=
8 6x7= 25 9x7= 2. 8x7=
9 11x7-= 6. 10x7= 83 5x7=
0. 1x7= 27. 7 x7 = 4. 2 x 7 =
11-5><7:— 8. 11 x7= o 4 xT=
12. 8><7=— 29. 10x7 = 46. 3 x 7 =
138. 1x7= 0. 12 x7= a7 9 x 7=
4. 1 x7 = 3. gx7 = 48. 2 x 7 =
15 4 x7 = 2. 10x7 = 49 3x7=
6. 7x7= 3. 9x7= 50. 2 x 7 =
17. 12 x7 = 4. 1 x7=
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. Answer Key

Date:

Teacher:

Class:

Multiplication 403

Did you hear about what happened at the laundromat last

night? Three clothespins held up two shirts!

Multiply these numbers.

L 5x7=35 18 6x7=42 3. 8x7=56
2 7Tx7=49 19 10x7 =170 ¥ 11x7=77
3 2x7=14 0. 1x7=7 3 4x7 =28
4 9x7=063 2l 12x7 =84 ¥ 3Ix7=21
5 7x7=49 2 11x7=77 36 x7 =42
6 9x7=63 8. 4x7=28 0 1x7=7
. 10x7=70 24 5x7=235 L. 3 x7=21
8 B6x7=42 25 9 x7=063 42. 8x7 =56
% 11x7=77 . 10x7=70 B 5x7=35
0. 1 x7 = 27. 7 x 7 = 49 4. 2x7=14
11. 5 x7= 35 8. 11x7=77 ® 4 xT7 =28
12. 8 x7 =56 29 10x7=170 4. 3Ix7=21
138 1x7=7 0. 12x7 =84 4. 9 x 7= 63
1. 1x7= 3 6x7=42 8 2x7=14
15 4x7=28 3. 10x7=170 49 3x7=21
16. 7 x7 = 49 33. 9x7 =263 50. 2x7=14
7. 12x7=84 HolxT7=7
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